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Listen and mark the letter A, B, C or D on your answer sheet to indicate the correct answer to each of the
following questions.

Question 1: Mai, Phuc and Veronica are talking about in the future.

A. energy B. means of transport

C. festivals D. films
Question 2: Phuc thinks SSS will help cars avoid crashes and .

A. pollution B. bad weather C. carbon footprint D. traffic jam
Question 3: Mai will use her to fly anywhere.

A. mini bus B. teleporter C. jet pack D. flying car
Question 4: Veronica’s idea about teleporter is really

A. interesting B. boring C. exciting D. imaginative
Question 5: Phuc thinks the future is green because will power everything.

A. solar energy B. fossil fuels C. nuclear energy D. hydro power

Mark the letter A, B, C or D on your answer sheet to indicate the word whose underlined part differs from the
other three in pronunciation in each of the following questions.
Question 6:  A. disappointed B. excited C. terrified D. crowded

Question 7:  A. entertaining B. helicopter C. seatbelt D. kilometer

Mark the letter A, B, ¢ or D to indicate the word that differs from the other three in the position of primary
stress in each of the following questions.
Question 8: A. affect B. biogas C. gripping D. pedal

Question 9:  A. environment B. plentiful C. abundant D. available

Mark the letter A, B, C or D on your answer sheet to indicate the correct answer to each of the following

questions.
Question 10: My grandfather used to to work by bus.

A. went B. going C.go D. to going
Question 11: They solar panels on the roof at this time tomorrow.

A. will put B. will be put C. put D. will be putting
Question 12: Fossil fuels by renewable energy sources.

A. will be replaced B. will replace C. will replaced D. are replaced
Question 13: He’s sure that we will find this romantic film

A. moving B. moved C. acting D. bored
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Question 14: This digital camera belongs to Nick. This camera is

A. him B. his C. he D. it
Question 15: the horror film was frightening, | really enjoyed it.

A. Nevertheless B. Despite C. In spite of D. Although
Question 16: Nuclear energy can provide electricity for the world’s needs, but it is

A. abundant B. dangerous C. safe D. limited
Question 17: During the , there are thousands of samba dancers with very beautiful costumes
performing on the streets.

A. Carnival B. Mid-autumn festival

C. Easter D. Halloween

Mark the letter A, B, C or D on your answer sheet to indicate the most suitable response to complete each of
the following exchanges.
Question 18: Nick: Should I use public transport or a bike to reduce carbon dioxide?
Duong:
A. Of course. It helps to reduce your carbon footprint, you know.

B. Why not? It will harm the environment.
C. I won’t advise you to do so.
D. How about taking your car?

Question 19: Phuc: How far is it from Ha Noi to Ha Long Bay?
Mai:

A. It’s very far.

B. It takes about two hours.

C. It’s about 170 km.

D. You can get to Ha Long Bay by coach.

Mark the letter A, B, C or D on your answer sheet to indicate the underlined part that needs correction in
each of the following questions.
Question 20: These children often go to school by foot.

A. These B. often C.go D. by
Question 21: Tet holiday is the most important celebrate for Vietnamese people.

A.is B. most C. celebrate D. for
Question 22: There is a special celebration for Japanese girl in March 3™ every year.

A. There B.a C. for D.in

Mark the letter A, B, C or D on your answer sheet to indicate the word CLOSEST in meaning to the underlined
word in each of the following questions.
Question 23: | think the monowheel looks rather weird.

A. popular B. unusual C. amazing D. successful

Mark the letter A, B, C or D on your answer sheet to indicate the word OPPOSITE in meaning to the
underlined word in each of the following questions.
Question 24: Using coal is polluting, and it is non-renewable.
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A. expensive B. dangerous C. renewable D. convenient

Read the following passage and mark the letter A, B, C, or D on your answer sheet to indicate the correct
word or phrase that best fits each of the numbered blanks
The Sun has provided us with many uses. Thousands (25)......... years ago, people began to dry clothes and
food in the sunlight. But it’s not until recently that we (26)......... been able to generate power from it. There
are three main ways of using the sun’s energy: solar cells, solar water heating and solar furnaces.

One of the good points of solar energy is that it is an unlimited source. Moreover, it produces no waste

or (27).......... . Therefore, in countries with sunny climate, solar energy has great potential.
However, it has some (28)......... as well, such as it doesn’t work at night and the installation price is
high.
Qgestion 25: A. of B. for C.in D. with
Question 26: A. has B. were C.are D. have
Question 27: A. pollution B. polluting C. polluted D. pollute
Question 28: A. advantage B. disadvantages C. disadvantage D. advantages

Read the following passage and mark the letter A, B, C, or D on your answer sheet to indicate the correct
answer to each of the questions.

Large cities often have problems that small towns and rural areas do not have. Two of the biggest problems
are heavy traffic and the pollution that cars create. Of course, traffic problems and pollution are not only found in
big cities. However, the higher populations and larger number of cars on the roads in cities can make the problems
happen more often and with more effects that are noticeable.

One of the most common traffic problems the large cities have is congestion. As the population of a city
increases, so does the number of cars on the road. Cities cannot always improve the number and size of their roads
and highways to keep up with the number of cars. The result is traffic congestion, or traffic jams.

When traffic jams happen, cars that are stuck in the congestion continue to run their engines. This creates pollution
and is a big problem. Pollution causes health problems for the people in cities and hurts the environment.
Question 29: Where do traffic problems and pollution frequently happen?

A. In small towns B. In rural areas
C. In big cities D. In remote villages
Question 30: According to the passage, what causes traffic congestion in big cities?
A. A lot of accidents B. Too many cars on the roads
C. Careless drivers D. Less traffic signs on the streets

Question 31: What can make traffic congestion more often and with more effects that are noticeable?
A. The higher populations.

B. The health problems and the environment pollution.
C. The higher population and larger number of cars.
D. The size of roads and highways.

Question 32: Which of the followings is NOT true?
A. Only big cities have the problem of pollution.

B. Traffic jams cause pollution
C. Pollution is a major problem in big cities.
D. Pollution causes health and environmental problems.
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Mark letter A, B, C or D on your answer sheet to indicate the sentence that is closest in meaning to original

one.
Question 33: People won’t burn fossil fuels for energy in the future.
A. Fossil fuels won’t be burn for energy in the future.

B. Fossil fuels won’t be burning for energy in the future.
C. Fossil fuels won’t be burnt for energy in the future.
D. Fossil fuel won’t be to burn for energy in the future.

Question 34: She will be going to work by car at 8 a.m tomorrow.
A. She will be driving to work by car at 8 a.m tomorrow.

B. She will be driving her car to work at 8 a.m tomorrow.
C. She will drive her car to work at 8 a.m tomorrow.
D. She will drive to work by car at 8 a.m tomorrow.

Question 35: Although he was tired, he tried to smile.
A. In spite of his tiredness, he tried to smile.

B. In spite of him tiredness, he tried to smile.
C. In spite of he was tiredness, he tried to smile.
D. Despite of his tiredness, he tried to smile.

Question 36: The distance from my house to Aeon Mall is about three kilometers.

A. Is it about three kilometers from my house to Aeon Mall.
B. It is about three kilometers from my house to Aeon Mall.
C. Itis about three kilometers to my house from Aeon Mall.
D. It is about three kilometers from my house and Aeon Mall.

Question 37: It is very exciting to travel by plane.
A. | am very excited about travelling by plane.

B. I am very exciting about travelling by plane.
C. I was very excited about travelling by plane.
D. | was very exciting about travelling by plane.

Question 38: Their shoes are brown. Ours are black.
A. Our shoes are black. Their are brown.

B. Ours shoes are black. Their are brown.
C. Our shoes are black. Theirs are brown.
D. Ours shoes are black. Theirs are brown.

Make question for the underlined part
Question 39: It takes me 15 minutes to ride to school.
A. How long did it take you to ride to school?

B. How long does it took you to ride to school?
C. How long does it taken you to ride to school?
D. How long does it take you to ride to school?

Question 40: They spent their holiday in Sa Pa last summer.
A. When did they spend their holiday last summer?
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B. Where did they spend their holiday last summer?
C. When do they spend their holiday last summer?
D. Where do they spend their holiday last summer?
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